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Note : Question No. 1is 'compulsory, answer any FIVE. questtons from the remaining.
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Solve all parts of a question consecuttvely together.
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j . ' Start each question on fresh page. |
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Only English version is valid in case of difference in both the languages.
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' . ‘What do you understand by Indeterminate structures ?
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In w.hat/circumstances a continuous beam is made ?
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P Write the uses of influence line diagrams.
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Explain the area moment theorem.
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In which circumstances the retaining walls are constructed ? (2x5)
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A simply supported beam of span 4 m carries concentrated loads of 20 kN and 35 kN

at-a distance of 1 m and 3 m respectlvely from left support as fig. 1. Find out the
maximum deflection of the beam and slope at left support. *°
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Draw SFD & BMD of fixed beam as shown in F1g-2 e 0 (12)
10 kN ~ 20kN
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For the propped cantilever beam shown in ﬁg -3 draw SFD and BMD. T (12)
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Draw SFD and BMD of continuous beam as shown in Fig. 4 (12

80kN

6.- ﬁa sﬁmﬁﬁ@wﬁﬁmwwmw%mﬁmﬁaﬁsﬁtm%l
- uww RRER 40 m R, % 9 RR A 16m 1 gt w R we R st it
mmgmﬁnmmqamymwﬁmﬁﬁm

A series of point loads as shown in fig.-5 crosses a simply supported beam AB from
*“left to right. For the beam of span 40 m, calculate the maximum B.M. and maximum -

S.F. at a section of the beam a distance of 16 m from the left support without using
influence line diagram. . 12)
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Find forces in all the members of the frame shown in fig. 6. (12)

20 kN | 40 kN
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A three-hinged parabolic arch has a span ‘L’ and rise ‘", A umformly distributed
load: W-kN/n'i§ ‘@6tinig on whole span. Calculate reactions at supports and find

out the bending moment at any general section at a distance X from support
€ A,
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Mentlon mam condmons of stablhty of retalmng walls (6+6)




